During the typesetting process a typo was identified, which has to be corrected. This is the sentence of interest from the manuscript as it was accepted for publication (last sentence in Section 3.3):

"Due to the new definition, the number of positions is extended from four in the non-preceding cascade model positions (starting, ending, enclosed, isolated) to eight in the preceding cascade model (see also Fig. 4): one starting ({0, 0}, 1,1 with 0=dry and 1=wet and { } indicating the wetness state of the preceding, already disaggregated time steps), three enclosed ({0, 1}, 1, 1; {1, 0}, 1, 1 and {1, 1}, 1, 1), three ending {0, 1}, 1, 0; {1, 0}, 1, 0 and {1, 0}, 1, 0) and one isolated position ({0, 0}, 1, 0) for b=2."

Brief explanation of the typo, which is underlined in the sentence before (it should be 1 instead of 0): The values in the curly brackets represent the wetness state of two time steps with 0 representing a dry time step and 1 representing a wet time step. There are three possible combinations for the ending position: dry-wet {0,1}; wet-dry {1,0}; wet-wet {1,1} . [{0,0} is not possible since one of the time steps before has to be wet for this position.] For the enclosed position (see the brackets before) this was written right by me, but for the ending position I accidentially mentioned {1,0} two times. Hence the last {1,0} has to be corrected to {1,1}. 
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